Imperfect Information in Health Care Markets

Exercise Session 13 - Supplier induced demand
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Exercise 32

In the "first wave” model of the lecture, consider the case where
marginal utility of income is constant, i.e. u(y,t,s) =y —t —7s.

a) How much demand will the physician induce in this case?
b) Plot billed services per patient as a function of 4.

c) Consider now that inducing an additional unit of demand may
be a lot harder if you already induce a lot compared to the
situation where you only induce little. Use
u(y,t,s) =y — t — 0.5vs2 to capture this situation. How
does this change your answer to the previous two questions?

d) How does the shape of billed services per patient as a function

of ¢ differ from that in the lecture where we assumed
decreasing marginal utility of income?
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Exercise 33

Upcoding is the practice of fraudently charging for higher paying
services than the ones provided. Discuss similarities and differences
between upcoding and inducing demand.
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